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SIMPLE INTEREST WORK SHEET

SCHOOL BOOK SOURCE
Class Term
Simple Interest 7 OLD 3 2.5
7 NEW 3 24,25

Interest which is calculated uniformly on the original principal throughout the loan period
is called Simple Interest.

i.  Simple interest: | -
100
P = Principal
N = period
R = Rate of interest
ii. Amount: A=P+1
SL&T TV (PUPeuUGHID SLemmul OCaThdaslul L  OFedsd FImul SIS IUBLD  6ully  SHeol
QUL IQUITEHLD.

PNR

1. sl eully | = 100
P = o560
N = smeud
R=aily aiswbd

ii. Qorshs grens A=P+ |

1. A sum of Rs. 800 is lent for one year at the rate of 18% per annum. Find the interest.
. 800 eigId OFTemd @B UBL  HTVSHBG 18% WG  euliguied &L eunmul
QUPRISLILGSH OB Ul 19dh CHTEMNHMUI HT6w0ISH.

2. Kumar borrowed Rs. 400 from his friend at the rate of 12% per annum for 2 %2 years.
Find the interest and amount paid by him.
ST 400 enwl et HeWLALWOBHS 2 Y2 aupLBIsEhHES 12% SLewiG  eul lgulled Sl eyl
CuEIFSGTBIT. SiuT CFNIGHHW QI 19SHOHTOHMWWD OOTHSH COHTENHMUILID SHTENIH.

3. Find the interest on Rs. 1200 at 6% per annum for 146 days.
6% LB el lguled ¢h. 1200 &G 146 BT HEHEEHTH QL1985 OHTMHMUIS HTEIS,
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10.

11.

12.

13.

14.

15.

A sum of Rs. 46000 was lent out a simple interest at the rate of 18% per year. Find the
interest at the end of 1 year and 9 months.

.46,000 eIID QFHTeWH @ITewigBE@ 18% eaibd Sl aulipuied SLeTUl EUPHISLILIGS GBS
I aumpLd 9 wrgmseT @nISHuled GUHGD Il 19SHoHTmHEMUI HTENISH.

Find the simple interest on Rs. 1000 for 6 months at the rate of 5 paise per rupee per
month.

QhH WISHHBS @ BUTLISEG 5 usT 6a@ibd el eldshdled h. 1000, 6 LISHHH 60
CaETBHGD Hall QI 19HOHTMHMUI  HT6ISH.

Find the simple interest when principal is Rs. 12000, rate of interest is 18% per annum
and time is 4 months.

18% ouewi® eully eisHdHed @h. 12,000, 4 WIGHHO CETHESGSL HN U 19HOHTMBHEML
BTN,

Find the simple interest when principal is Rs. 1000, rate of interest is 10% per annum and
time is 73 days.

10% o ey eaissHdHed ap. 1000, 73 pErisefar CaTHHGWL SN U 19HO0HTMSHEMUL
BTN,

Find the simple interest when principal is Rs. 500, rate of interest is 12.5% and time 4
years.
12.5% etemid aul'lg aigHsHHe0.500,4 alBLES6N60 CBTHHSGHL SN UL 1SHOHTMHMUL  HT6wIsH.

Kumar has paid simple interest on a certain sum for 2 years at 10% per annum is Rs. 750.
Find the sum.

G B OFTmHHEG 10% LB el lguled 2 QIMHLBIGEHSEG OFbHu Halall 19H0HTmes
5.750 SDIHOHTENSHEMUI  &HT6u015.

What principal will amount to Rs. 900 in 6 years at 10% simple interest?
b FeTaIH 10% Seiau iguied 6 auHLmBIG6ed ah. 900 Qb 2 WIHLD.

In how many years will be Rs. 750 amount to Rs. 900 at 4% per annum?
aTHHmenn aubLmIE6Med h.750, 4% ouewi(h auliguied 5900 SLE 2 UIHLD.

A sum of money doubles itself in 8 years. What is the rate of interest?
Qm GBUILL OxTms 8 auHLmES6MND T IQEBEBH. ally aiHD HTwH.

A principal becomes Rs. 10050 at the rate of 10% in 5 years. Find the principal.
b oFTagH 10% aiedHed 5 eumLmE6ie0 @h.10,050 USGBH. HIFM6VDH SHTENISH.

Kumar borrowed Rs. 52000 from a money lender at a particular rate of simple interest.
After 4 years, he paid Rs. 79040 to settle his dept. At what rate of interest he borrowed
the money?

GWIT Q@ ULIYSHSMLSSTTRNLLOBHB @ SHUILL S aully aihdHsHled 4 6U(HLBIBHEHHES
ah. 52000 Hws SLemMul GUBIASBIT. ST dh. 79040 W OCFISH ST B w6
DML S GPIT. 61h H QI lg aiHHHed SlauT HLewerll GUBMTT.?

A farmer borrowed Rs. 2400 at 12% interest per annum. At the end of 2 %2 years, he
cleared his account by paying Rs. 1200 and a cow. Find the cost of cow.
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16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

@ alleugmul 12% ouewi auiguied 5.2400mw SLemmul  QuudemrT. 2 72 eumpL Smiguied
ST 51200 Wb @@ usFmad OFTHHH SLMAT DL SHEBITT. UFaler alenevenulds
BTGNS,

Kumar deposited Rs. 20000 in a financial institution on 28t March 2000 and closes his
account on 21%t August 2000. If the constitution pays an interest of 9% per annum, what

amount does Kumar get?

GWIT @M B HoeuaisHeo 28 wrtd 2000 @@ 05.20,000  eeul] HHWTH
CFISH S GTBTIT. wLBoID 21 sHevl. 2000 B HAIBH  HWIHMS  (LPIYHB GBI,
SIBHBIIID eihdB@G 9% 6l aullp aIPBIF@ITE GWTT QUEID CBHTEBEMUI BHT6uwTH?

In how many years will a certain sum becomes 3 times itself at 25% per annum under
simple interest.
B OHTMD IHHM UBLEH 25% ewih Hafl aully aiHsHded 3 OLBISTGLD.

Find the amount on Rs. 25000 at 8% per annum for 6 years under simple interest.
. 25,000 el euliguled 6 euBLEHeNe0 8% Wi auliguisd QETBHGWL  CoTHs
CPHTMHEMUIS  SHT600TH:

Find the difference between the interest obtained for Rs. 1000 at 12% per annum for 3
years and that for Rs. 1500 at 8% per annum for 1 %2 years.

5.1000, 12% ouewih au'ly aiHHHe0 3 aUBHLBIGID OBTHHGD L I9HeHTMmBHGWD 0. 1500,
8% owiB ey oiesHe 1 V2 eumpLmiselled OBTRHGID I 19H0HTEEHGID 2 6lT6r
AGHHWTFID SHTevIb:

If interest on Rs. X for 2 years at R% per annum is Rs. 80, then find the interest on Rs. 2x
for one year at R% per annum.

X, R % opemi® euliguied 2 eumLmisefled GamBoH@d aullg ap. 80 eefled h2X R% ouewi®
QUL 1puled @(h UL SHHL OBTHHGSG QL 19H0HTmHMUIS HT6IH

Find the interest on Rs. 1460 at 10% from 5t Feb, 1992 to 25t April 1992.
oh. 1460 &, 10% oipshHed 5 ogeufl 1992 edmpBE 25 glged 1992 euedy 2 eiren
HTVHH MBI QUL 19H0HTNHENUISH  SHT6u01H.

In what time will Rs. 6000 amount to Rs. 7200 at 4% per annum?
THHMA BTVSHH0 4% e Ul lpuied 5.6000, eh. 7200 SH © WI(HLD.

Ram lent Rs. 1200 to Kumar for 5 years and Rs. 1500 to Mohan for 2 years and received

altogether Rs. 900 as interest. Find the rate per annum.

gmb  5.1200 W 5 UBHLEISEHHG GLOT([HdHEG SLEMUI GUPRISIOITT BBID oh. 1500w 2
QUBLBIBEHDHEG Ol SLOMUI UPRISITT. SeuT GuBp CTdHs Ll ipsHeHTms  0hH.900
SWIBH QY QiFHD HTenis?

In how many years will a sum of money double itself at 5% rate of interest?
THBHMA UBLSHHO 5% ey aissHed @ OFTems S iglimEgLb?

. . 11 . .
At what rate of interest will a sum of money becomes m times in 5 years?

11
abd el aihdHdHe0 5 eUbHLEIS6T0 H CHTND ELDI_I'EI&IT@LD?
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27.

28.

29.

30.

31.

32.

33.

A man borrowed Rs. 16000 from two persons. He paid 6% interest to one and 10% per
annum to the other. In one year he paid total interest Rs. 1120. How much did he borrow
at each rate?

QH WaNHST BFeni® BUTHONLLOHHSH 0. 16000 emul SLemmul GUNBISEIBTT. DIeUT QIHAHDG
6% wHBOBTHAHBSG 10% eaibd Spewih el iguied aully CFISHIF@MBIT. @ UHLHHBS
ST OFHHW  OwrdHs el hesTems h. 1120, @albeutm el aihdHdHed  Sleul
QUBBHOFHTEHHEMUISH HT6IH !

A borrowed Rs. 1500 at 4% per annum and Rs. 1400 at 5% per annum for the same
period. He paid Rs. 390 as total interest. Find the time for which he borrowed the
money.

A 4%eem® el iguled h.1500 ud 5% ouewih  euliguiled e.1400 wib @By BTG MBS
sLeml OQupIFesTT. oeuT CFSHW CWTHH I YHEHTMmS 0h.390. 6bHFH BTVHHBES
SlaUT OFHTenBHM6N SL MU CUMBMITT.

Find the annual instalment will discharge a dept of Rs. 12900 due in 4 years at 5% per
annum Simple interest.

ahd QUBLTHAT SHouemewienwl OFishd 5% oLewi® Hafl auligulsd 4 aubLBEIS6Ms0 ¢h.12900
eI HLevert alBHallliumT?

When a bank reduces the rate of interest from 5% to 4% per annum, Ram withdraw Rs.
500 from his account. If he now gets Rs. 35 less interest during one year, find how much
total money was there in Ram’s account initially?

R umd aully aiHHmd 5% ebbHal 4% SLEWIB U IQUITS GBEHGD QUTINSI JID SHerd
amId  BHemdSeN(hhaHl H.500 Hpbu CUBIFBIT. SBOUTH @H MBLSHHD 535 GenmeuTent
Qg OQUUDIBBIT. JID Hewibdled (PHedled GLOTHBHID 6T6leueTey LIGwID EHbHH?

A certain sum of money amounts to Rs. 4720 in 3 years at 6% per annum simple interest.
In how many years will it amount to Rs. 5680 at the same rate of interest.

o GUILL OsTms 6% oueiB SHala guisd 3 auBLBEIBaNN 54720 SiE o WITEHEImEI.
aHHMe aU(HLMEIS6MNL DBFH ey aiHHHe0 H.5680 uEH o wihHD?

Rs. 12000 is lent out in three parts. The first part is lent at 4% per annum for 5 years, the
second at 5% for 3years and the third at 3% for 4 years. The total interest earned on each
part are equal. Find the sum in each part.

. 12000 cpeSIml LGHBeNMTUI SHLeImUl UPBRIBLILGHSBS. (PHe0 LG 4% Spewi®  auliguiled
5 QUBLEIBEHHGD, BIWILTD U dH 5% 3 UBLEISEHHGD OBBID cpSIBTD UGH 3% 4
QUL BISEHHGLD SLOMUL aupRSILGHEBE. @albeuraieid GuBB 6CLTsHs eI sHoHTmes
g elefen, ealbeuT(H LGHUler CHTendemnul SHTexnIs?

The interest on Rs. 2000 is less than the interest on Rs. 2500 at 5% by Rs. 50. Find the
time.

5% euliguied 5.2000 QHETBHGD eIl 19H0HTMS ah. 2500 CBTHEGID eIl 19HeHTEnEmUI il
b 50 GHMBEY. HTLSHMSH HT6MIb.

A sum when reckoned simple interest at 3 2 % per annum amounts to Rs. 364.80 after 4
years. Find the sum.

@ Oxmens 32 % ouewih Hefl eulguled SEWISGHLLILGID QUTIRH 4 aIHLBIG6T h. 364.80
O 2 WTHAGBH. DIHOHTHHMUI HT6wIH?
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